Probability

Probability

A Overall survival

TRAFD1 sob2 RIPK2 RBCK1 MT2A
o ° ° o o
<1 HR = 2.88 (1.54 - 5.38) <1 HR = 1.78 (0.92 - 3.46) <1 HR=4.79 (2.62 - 8.73) <1 HR = 1.63 (0.9 - 2.95) = HR =2.18 (0.97 - 4.9)
logrank P = 0.00054 logrank P = 0.084 logrank P = 2¢-08 logrank P = 0.1 logrank P = 0.053
| @ | @ ] @ | @ |
S S S S S
t‘
o | zo | 5 2o | z o | z o | "
S L“T £o £s £o £s
] ] H 8 8
3 3 T - 2 2
< | S - S v | S < | S < |
o o o o o . o a o
o ] o o] o )
© | Expression © | Expression © | Expression © | Expression © | Expression
— low — low — low — L?Wh P ':_Wh
(=} i o e i i i
E T high T T T T g L T high T T T T g 1 T high T T T T ol T o T T T T ° T o T T T T
0 50 100 150 200 0 50 100 150 200 0 50 100 150 200 Y 50 100 150 200 o 50 100 150 200
Time (months Time (month: Ti th: Time (months) Time (months)
Number at risk ( ) Number at risk ( s) ‘Number at risk ime (months) Number at risk Number ok riek
ow 157 1 1 0 ov 113 1 5 1 0 ow 211 o " 1 0 low 168 8 1 0 w72 3 ! 0
high 130 25 1 0 0 high 174 42 7 0 0 high 76 9 1 [ 0 high 119 % 4 o o hgh 215 4% ’ 0 o
TRAFD1 sob2 RIPK2 RBCK1 MT2A
o |
2 i HR =4.94 (2.13 - 11.44) 2 HR =2.24 (1.03 - 4.87) 24 HR =4.3(1.86 - 9.97) = HR = 0.67 (0.31 - 1.45) - HR =0.58 (0.27 - 1.25)
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